Polynome und Formeln

Mathematik 1. Klasse

@ BY-SA lvo Blochliger

R Losung zu Aufgabe 5.23 cxtaktorisicren-bis-zum-abwinken

a) —4m2a3 (0 — 5)? (0 + s)?
—2y*u® (d — 2ym) (d + 2ym)
22 (5a — 3n3h)2

g) —2¢(2d — 31)?

i) —3p* (b° —pg?) (b* + pg®)

k) 4a2g (3j¢° + 40°k2)°

m) 57 (b — 5t%)’

0) =5z (j —w) (j +w) (% + w?)
) 2¢ (f3 - w2k3)2

) —3eo® (21h3 — 5)°

) 5b? (5r3d* — 3y f?) (5r*d* + 3y f?)
w) 262p (2 — 55%)°

e}

wn

=

b) 5zv? (qa + o3g3)2
d) —5a’s (e* — 27’3k)2
f) =2k (13% — v®r) (15 + v3r) i
h) 503 (2n2h3 - 7“2)2
) —u2h? (2uwdh — 5®)
) =503 (i —7) (i +7) (% +1r?)
n) 4n (5m + 3wv)®
p) o(a® +2q)”
) —5h (3m? — 4s2¢%) (3m? + 4s%¢®)
t) 2p% (d? + g)°
) 5k (z3h + w?r3)®
x) 4z (mf3 — 223) (mf3 + 22%)
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